Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - 6(NEW) « EXAMINATION — SUMMER 2018

Subject Code: 3360602 Date: 03-May-2018
Subject Name: Construction Quality Control & Monitoring
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q1 Answer any seven out of ten. €22l SlEURL Ulclotl cllol AU,
Uil 1 Define TQM.

=

TOM ofl cautual a4l

Define: (1) Calibration (2) Dispersion (3) Standard deviation (4) Frequency
cqlul AW :(1.) 3(@Adelet, (2.) [@Qadet, (3.) Yld Qudet, (¥.) wgld
What is quality explain?

sJelaltl 9 & AHestel.

Enlist parts of NBC

Aot ol Al (NBC) otl ctloll ofl 2LEl ool

State basic difference between inspection and quality control.

o{l3latel wal dRlell [RaAMat A Ynefd dstald UMl

Explain Deming’s PDCA cycle.

Deming oll PDCA 4% yHscll.

State Trepezoidal and Simpson rule for the calculation of area.

Aogn ORlall H2 oll AHANS A Ut AU

Explain quality with respect to civil engineering work.

RQAA ¥l aliusiH ol Aeal duteatdl ofl UMy .

Give concept of green building.

flot (AAesSTol ol v UMl

What is ISO 9000 Series?
150 9000 A3 9 &2

© 00 G N o L O X AW P

o
oo ™

Explain the terms Variables, Attributes and Unit with respect to Statistical
Quality Control.
UisstSlaA ofetal [amet ot AgelHl 3813, oltunl, Ul WsH AHSAL

OR
Distinguish between Accuracy and Precision.

() AUl AR ALsAY Aol cAgleld UMl
(b)  Describe sources of errors in surveying with example.
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udeg i Al oletl B GelgWL W aglal.
OR
Explain requirements for good formwork.
ARL silas 1w ofl wzdland wHstaAl
Write tests required for testing of bricks for its suitability for construction.
2ol olitusii HIZoll A=l Ustdcll HI2 %23l udlaetel eseudl.

OR
Write points to checks quality of plaster work in construction.

LUSIHML wetiReR st ofl fQlaldl UslUal HIZ tulotHl Avcllotl YERA Al

Calculate the area by Simpson’s rule for following observations booked during a
chain survey.

(Cn:]) 0 25 50 75 100 | 125 | 150 | 175 | 200

Offset | 8.65 | 9.50 | 10.30 | 09.90 | 11.30 | 12.35 | 10.60 | 9.40 | 10.30

As Usn UL eRMalet AU Aot WA sl Ul Rrudet ol [Ran
oll Guallal 831 Axtsm WKl

ALsN
(m)
A2 | 8.65 | 9.50 | 10.30 | 9.90 | 11.30 | 12.35 | 10.60 | 9.40 | 10.30

0 25 50 75 100 | 125 | 150 | 175 | 200

OR
Formation width of road in embankment is 9 m with side slope 1.5:1. The
ordinates of height along centre line at regular interval of 20 m are 2.1,1.9,
1.8,1.8, 2.0, 1.6 and 1.8. Calculate the earthwork using prismoidal rule.

9 {l USlA AR 1.5:1 Gl ol Ao clow Wl As M2 20 Hl ot RaMd
UARIA UR Ja WA wHlotoll GlE uofsA 2.1, 1.9, 1.8, 1.8, 2.0, 1.6, lal
1.8 8. dl prismoidal ol [ &l HlsiH ol ol ofl oWl s3.

Write short note on TQM models
TOM 3 U 28l olltd vl
OR
List ten mantras of TQM.
TOM ol e HA ofl 2uel ottt
Differentiate between old company and TQM company with respected to
Definition, Priorities, Decision, Emphasis, Errors, Responsibilities, Manager
role in management.
cqiull, WEIHAL, [ela, euRysclollatudl, 314, snelZll, AaxHe Hi

AR oll A ollold ol SUoll Wal TQM SUsll ARl dslald Al

OR
Explain building blocks of TQM with figure.

TQM ol (Acslol ccllsy viglAue ULl
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The number of complain received daily by an organization is given below.

Draw the control chart and state whether the number of complaint is under

statistical control or not?

Day 1|2 |3|4|5|6|7|8|9|10]|11|12]13|14]15
Compl | o1 3 gl olgl2|ololal2lolelol2]a
aints
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As AU €A% UGS sl Wt glauelell fvau oA eldct B. A 0¥

URYL 52l W ElRL wA LAl ¥ s3AEL ol dval uissisla [Aeizel dsn B
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OR

Cement concrete cubes were tested for compressive strength and following
results were obtained. 19,18, 20.5, 17.2, 19, 17.4, 16.5, 20, 16.0 ,19.4 (N/mm?)

Calculate standard deviation, coefficient of variation and range.

@A slsdle ol syt oll eleHe ofl Huell e2utet oAt uREUA

HeRl, Aetl Ul YyHIQld [Quest, [Quret dJulis dal 3o 0l
19,18, 20.5,17.2, 19, 17.4, 16.5, 20, 16.0,19.4 (N/mmz)

Classify acceptance sampling and state advantages of acceptance sampling.

AAed Aol callgds?l Aotl stlAERRA QU

OR
What are control charts? Give their benefits.

Sl AULE 9 B? Aoll slAELA B,

Compare X-R charts with P-Charts.

X-R Al P-Ae WA AuuHel 3.

OR

How quality of building materials affect the quality of construction?

witsti 1 auRldl HidjHl aiustd ol dJetadl UR s83ld wuAR 531 ad?

Describe methods of statistical quality control

uisstsla ofetarl [aHet ol Al adal.
OR
Explain function of Planimeter with sketch.

etloll{leR of stal uugld us Al
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The average X and Range R of 10 samples tested in laboratory are given below.
There were 5 samples in a sub group. Plot average chart and range chart. Take.

A2=0.56, D3=0 and D4=2

Sample | 2 3 4 5 6 7 8 9 | 10
no
e 42 | A7 | 42 | 48 | 48 | 36 | 45 | 38 | 52 | 40
R 4 5 6 3 4 5 6 7 5 8

AollRe3] udlaRHi 10 otoltell URRAA X UAR olA Yool B, €35 el &
HU UlA ool &cll.URRAA el % AL ERL A.2=0.56 , D3=0 and D4=2 UR

o3l
o 1 2 3 4 5 6 7 8 9 10
Y% 42 | 47 | 42 | 48 | 48 | 36 | 45 | 38 | 52 40

R 4 5 6 3 4 5 6 7 5 8

Explain double sampling plan.

soet Aruclol wellel AHetAl.
Write important points to be considered for construction of green building.

Aflot(Acslol elitelHI2 LalletMl RAcllotl Yal AW,
Write advantages and disadvantages of green and sustainable building.

oA(AcSlol ual URAUEA (AESIoL oll SIAERA AUl AR SLAERA A
State benefits and limitations of Statistical Quality Control

issislaL ojetal [[aAMet oll $lAEL Wl HATERA vl
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